1.)  Alcohols reactive with active metals to form                                          .  These are important because they can be used as                           .
2.)  Alcohols that form stable carbocations react with HBr and HCl through an            mechanism to form                                                 .

3.)  Alcohols that do not form stable carbocations react with HBr and HCl through                         an                  mechanism.  What are some limitations to this reaction?  What is an alternative method for converting these alcohols to alkyl halides that avoids these limitations?  

4.)  What is the purpose of converting alcohols to tosylates?

5.)  The conversion of an alcohol to a tosylate occurs through an SN2 mechanism.  When starting with a chiral alcohol, the chirality remains intact during this reaction.  Explain.

6.)  True/False:  The reaction of a tosylate with a nucleophile does not invert stereochemistry.  Explain your choice.

7.)  Acid catalyzed dehydration of an alcohol occurs through an            mechanism.

8.)  Rank alcohol reactivity in regards to acid catalyzed dehydration.  Why do we see this trend?

9.)  True/False:  Any acid can be used for acid catalyzed dehydration of alcohols.  Explain your choice.

10.)  Primary alcohols can be oxidized to                                                                                  .

11.)  Secondary alcohols can be oxidized to                                                                             .

12.)  Tertiary alcohols can be oxidized to                                                                                 .
13.)  Describe what is occurring to the chromium and to the alcohol during the oxidation of an alcohol using a chromium containing compound.
14.)  List all of the previous ways you have learned to add an OH to a molecule and list the characteristics of each.
15.)  Thiols can also be called                                                       .

